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JE AL & HiI ERERTIR [ 30m | 18m | A5t 10 X e
1 BN B KBS 302 326 628| 21 8
2 | K& il B 270 294 564| 8 1
3 |EAX —E KBS 231 307 538| 8 3
4 |BLF BE REH 237 268 505| 3 2
5 |Hh EX REH 215 288 503] 9 3
6 |&FHE AiF REH 226 271 497 2 2
7 |E§H B REH 214 282 496 8 0
Fi P ! ACHTZ 283 331 614 19 6 |OPEN
£F B ACHT 209 286 495 2 0 |OPEN
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B2 & i H#ERTIR B 60m | 60m | #&F 10 X e
1 |IUTF % REH 267 269 536 10 4
2 &k BFE REH 257 262 519 5 1
3 |BEH EF KR 230 209 439 0 0
T KEH 196 218 44| 2 0
HE EIFE ACHT % 280| 240 520 7 1 |OPEN
IBH EE ACHTZ 252 251 503 4 1 |OPEN
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B2 & i H#ERTIR B 60m | 60m | #&F 10 X e
1 |f8H EKXED REH 261 240 501 4 1
2 |kKEE X# 2HEE 227 221 448 4 1
A Z2 MR 7 7 301 295 596 15 4 |OPEN
Bl EF farg T 7 1 274 254 528 9 2 |OPEN
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ハイライト表示


FAEIEZFBEET7—F) —KE[REREEBRE]

{70mEE AR - & F)

B2 & i H#ERTIR = 70m | 70m | #&EH 10 X e

1 |xB FF RERES 258| 287 545 6 0

2 |EH BBE Hras 260 269 529 5 1

3 |=A %kiE KEFKS 272 249 521 5 1

4 |HE ZM 3 1= 254| 262 516 6 1

5 |FE+ #h KEFKS 242 273 515 5 2

6 |[FKXK HOA K= 254 241 495 6 1

7 |=H K% = 235 256 491 4 2

8 |HHA T FHBBEXRS 236 246 482| 4 1

9 |BL &R KEFKS 246 235 481 1 0

10 |E3H B K= 235 244 479 6 2

1| R+ BkF KEFKS 240 235 475 0 0

12 || ZEB2H 3 1= 237 229 466 2 0

13 |MEE ZI1Ed FHBMEXRS 218 242 460 1 0

14 |FHE FEL Hras 228 229 457 4 1

15 |R¥ O&LY AR RS 248 207 455 5 1

16 |JIIA D KERKS 221 215 436 3 0

17 |l EHR KEFKS 199 233 432 5 3

18 |E#D I FHBBEXRS 222 208 430 5 2

19 |BET #it AR RS 209 204 413 3 0

20 /MR HZFE XEE 208 199 407 3 2

21 |RuL = XEE 179 222 401 4 0

22 | &= BRE 165| 214 379 3 0

23 |#EE # KEFKS 189 179 368 2 0

24 |&H %£iB BB 156 203 359 3 0

25 |BH X TERERS 146 190 33| 5 1

26 |EIE tik 3 1= 144 191 335 1 1

27 (O A0 FHBEXRS 153 179 332 1 0

28 |Fth BE FEHBBEXRS 127 148 275 0 0

29 |F\H BRE KERES 137 130 267 1 0

30 |HIE BHE XEE 136 127 263 2 0

31 | ER BB 111 125 236 0 0

32 [{EL W 2HEE 100 52 152| 0 0

33 |F/i; EXK BRE 76 72 148 0 0

34 |BEHE £ AR RS 44 86 130 © 0
O &M EHE 7 289 272 561| 5 2 |OPEN
%k BE HiES 187 199 386 0 0 |OPEN
Lk BF HES 158 218 376 2 2 |OPEN
FE &8t HES 139 177 316[ 1 1 |OPEN
ERR BE HiES 134 150 284| 1 0 |OPEN
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4L £ #iI #B3E FT IR B 70m | 70m | #&Ft 10 X e
1 AR H9Hh B 309 304 613 10 1
2 |fBI —ZE BARR 285 298 583 15 4
3 |k #hk REH 271 296 567| 7 2
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(7OmDEFEANEFT-BF)

B2 & i H#ERTIR = 70m | 70m | #&EH 10 X e
1 (&0 #— KERES 279 267 546 4 3
2 [ED mE 3 1= 264| 262 526| 6 3
3 |EH iR 2EE 250| 274 524 6 3
4 |HFE IEH KERES 257 245 502 7 3
5 |%H Bx KEFKS 256 246 502 7 2
6 |HHE #Eh AR RS 237 265 502| 5 1
7 |#% EE XEE 238 263 501| 8 4
8 |&HH FE AR RS 253| 248 501 6 2
9 |ZHR EFR = 271 229 500 7 1
10 |##5] &S FHBBEXRS 244| 253 497| 5 2
1 |[ZR #&H AR RS 248 248 496 5 3
12 [IMEE BETE AR RS 241 245 486 5 3
13 |BEH Xig AR RS 242 243 485 4 3
14 |FR& B = 258 222 480 3 1
15 |#H $H BB 233 243 476 4 2
16 |MTH Tk 2HEE 251 219 470, 4 2
17 [# B®W 3 1= 223| 246 469 1 0
18 |FiE EH FHBBEXRS 223 239 462 7 0
19 |&HR EAER 2HEE 223| 238 461 1 0
20 |1BA &R KERES 212 244 456 3 2
21 |HE Bis 2HEE 222 231 453 4 1
22 |HREK KN XEE 226 224 450 4 3
23 |k& HEiE RERES 220 227 447 5 0
24 |Gl B3 AR RS 236 206 442 2 1
25 [l #RF AR RS 197 245 442 2 0
26 |FHRE 3} AR RS 221 216 437 2 0
27 |Rix HER AR RS 207 223 430 3 1
28 (%H M K= 230 194 424 5 2
29 |FAfE i TEREXS 217 204 421 5 0
30 |HHE PR FHBBEERS 216 199 415 3 1
31 |FAK &% FHBBEERS 221 184 405 0 0
32 [’ f&A AR RS 152 246 398 6 1
33 |HF &N Hras 199 199 398 0 0
34 |HFH WAE AR RS 185 203 388 2 0
35 |{kH iff K= 176 205 381 1 0
36 | AHR RERES 156 220 376| 1 0
37 | HEiE BRE 181 194 375 1 1
38 [JIF [E XERBE 155 217 372 2 0
39 |RiE BT Hras 179 189 368| 1 0
40 | BR 2HEE 148 210 358 2 0
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4L £ #iI #B3E FT IR B 70m | 70m | #&Ft 10 X e

41 [FH &KX FHBBEXRS 192 165 357 1 0

42 (#AF FEE TEREXS 169 182 351 3 1

43 [IME FFR TEREXS 169 178 347 1 1

44 |BE 3% FHBBEERS 187 156 343 3 1

45 B —F e 1) 154 181 335 1 1

46 |FHE BX 2EE 176 148 324| 0 0

47 (A% —E TEREXS 155 166 321 0 0

48 |tE7EE = KERES 180 124 304 2 0

49 |#iK BA TEREXS 162 135 297 3 0

50 |AK K— FHBBEXRS 145 138 283 2 0

51 |4 EE AR RS 122 142 264 1 1

52 |f&fE EX AR RS 146 107 253 1 0

53 |R&E iR KERES 109 138 247 0 0

54 [¥HE E{Z FHBBEERS 84 135 219 2 1

55 | KB K3t KEFKS 97 110 207 0 0

56 |#EEF IRt BB 99 98 197 0 0

57 |&LW & A KEFKS 57 139 196 © 0

58 [fE0O RXK XEE 24 22 46| 0 0
FE £t RES 293| 257 550 12 3 |OPEN
X 131 HiES 247| 288 535 9 2 |OPEN
#wR BER HiES 159 239 398 2 1 |OPEN
hH KA HES 177 190 367| 6 2 |OPEN
i g RiES 129 177 306 1 0 |OPEN
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B2 & i H#ERTIR B 70m | 70m | #&EH 10 X e

1 (Bafs EBRL KE 301 297 598 16 0

2 |lLW OBOG 282 311 593 8 3

3 (WA BE&£ OBOG 282 296 578 9 2

4 | KE KEH 294 276 570 7 1

5 |LH R# KE 272 297 569| 10 1

6 |[FEF EXE OBOG 271 297 568 5 1

7 |BH &K OBOG 253 314 567 11 1

8 |1k Bt KEH 264| 267 531 3 1

9 |/ E HHRE 257 264 521] 5 0

10 |ds A &7 1 257 258 515| 5 2

1[Gl zEs OBOG 241 274 515 4 1

12 |FNl 3= ERE 244 266 510 2 0

13 |fiKk RE tEME 221 262 483 6 1

14 [5AE BER &7 1 217 258 475 2 0

15 |E% 8z tEME 202 207 409 1 0
S & FERX 267| 285 552| 4 0 |OPEN
N GEE 3 EERK 268 276 544 10 3 |OPEN
MO s EHET 269 274 543 9 4 |OPEN
g ZEX FERX 249| 282 531| 7 4 |OPEN
HE {EBA EERK 229 238 467| 3 1 |OPEN
He &= WRIEX T 175 214 212 426 4 2 |OPEN
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[t % il £ ERTIE B 50m | 50m | #4245t 10 BE
1 |EA #{\F BHRE 272 273 545 9
KiFE & EE 270 281 551 6 OPEN
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[t % il £ ERTIE B 50m | 50m | #4245t 10 BE
1 |Z2@ WmF B 300 327 627| 22
2 &K BFF LEHE 242 238 480 5
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B2 & i H#ERTIR B 50m | 50m | #&&F 10 X e
1 |BEBR # B 321 330 651 23 6
2 |F =W AR ™3 310| 331 641| 25 5
3 |KEE Bt 308 323 631| 21 6
4 |ZEE HE AR 306 316 622| 12 3
5 |TF¥H &A B 304 311 615 20 5
6 |FIE B Bl N ) 282| 322 604| 15 6
7 |®i BER HRH 284 305 589 11 4
8 |FN BAX AT 294 292 586 10 2
9 |fiK BX tEME 260 271 531 9 1
10 |#%HE T BERE 114 114 2 0
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B2 & i H#ERTIR B 50m | 30m | #&&F 10 X e
1 |[FH xiE &7 1 208| 304 512 11 3
2 |luE & Bt 213 296 509 6 0
3 |mEkE FEX AR 192 286 478| 5 1
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B 45z £ Hi ERERTIR [ 30m | 30m | #&Et 10 X e
1|3 EE KERKRS 3071 317 624| 16 7
2 |tAE Rt &7 1% 288 303 591 11 2
3 |MEA EBHE AERBS 261 286 547| 10 4
4 |k A= &7 1% 253 268 521 3 0
5 [EEE 18X AERES 257| 260 517 9 2
6 |FE BT FE7 15 253 258 511| 5 2
7 |ER X REH 254 243 497 2 1
8 |BH E: KERKRS 247 228 475 5 2
9 |HPE @B AERBS 238 237 475 3 0
10 |H#FE RE FKEF 236 238 474 7 2
1[Il FiHA EBRERS 249 223 472| 4 1
12 | KR BF TEXREXRS 213 250 463 3 0
13 |HE ¥E EXEXRS 210 231 a41| 2 1
14 (2% E3} EBRERS 219 211 430| 3 0
15 [ZH i EXEXRS 213 217 430 2 0
16 (RS &F RET 175 201 227 428| 4 3
17 |#/L & EXEXRS 220 202 4221 1 0
18 |EFiZE R TEXEXRS 195 226 421 2 0
19 [ILiss ZE TEXEXRS 214 192 406| 5 1
20 |7k BEAK ERfERS 170 217 387 2 0
21 B &4 TEXEXRS 153 204 357 3 1
22 |HH BE &7 1% 133 218 351 5 1
23 |IUA =3 EBRERS 202 134 336| 1 1
24 [}pK BEAXER TEXREXRS 108 137 245 0 0




